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Plati 20.5.2023 £ - dN’ O — o —

Sobota 1617 18 19 20 21 22 23
Konzervatof 55115 35 55[15 35 55|15 35 55)15 35 55[15 35 55[15 35 55|15 35
Hustv sad 56|16 36 56[16 36 56|16 36 56)16 36 56[16 36 56{16 36 56|16 36
Most M.Sykory 58|18 38 58|18 38 58|18 38 58|18 38 58|18 38 58|18 38 58|18 38
Elektra 03 23 43|03 23 43|03 23 43|03 23 43|03 23 43|03 23 43|03 23 43
Stodolni 04 24 44104 24 44104 24 44|04 24 44104 24 44|04 24 44|04 24 44
Muglinovska 07 27 47|07 27 47|07 27 47|07 27 47|07 27 47|07 27 47|07 27 47
Namésti S.Cecha 08 28 48]/08 28 48|08 28 48|08 28 48]08 28 48|08 28 48|08 28 48

Poznamky

P - v8echny spoje jsou zajistovany bezbariérovymi vozidly
H - bezbariérovy pfistup na zastavku
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Plati2052023  £| qeo—w @
Sobota 17 18 19 20 21 22 23
Nameésti S.Cecha 08 28 48|08 28 48|08 28 48|08 28 48|08 28 48|08 28 48|08 28 48
Muglinovska 10 30 50110 30 50[{10 30 50{10 30 50)10 30 50|10 30 50{10 30 50
Stodolni 13 33 53|13 33 53[13 33 53[13 33 53|13 33 53|13 33 53[13 33 53
Elektra 14 34 54114 34 54|14 34 54|14 34 54|14 34 54|14 34 54(14 34 54
Most M.Sykory 19 39 59119 39 59[19 39 5919 39 59119 39 59|19 39 59{19 39 59
Hus(v sad 21 41101 21 41101 21 4101 21 41101 21 41|01 21 41)101 21 41{01
Konzervatof 22 42102 22 42102 22 42{02 22 42|02 22 42102 22 42102 22 42{02
Poznamky

P - v8echny spoje jsou zajistovany bezbariérovymi vozidly
H - bezbariérovy pfistup na zastavku




